MOONKITCHEN 2.0 A1-65 q);m,nw
Assembly instructions. ) C,Tﬂ_(]ﬂn’
o I1Y ~

Live light at
vandermoon.com




Since 1993, Vitberg has been producing medical products
for rehabilitation, treatment, cosmetology and sport.

Its products are well-known and appreciated.Medicine
and technology are not our only passion, we also love
to explore the world.The experience we have gathered
over the years has been translated into the production of
accessories for people like us.

This is how the Van Der Moon brand was born.

Made in Poland, EU.

www.vandermoon.com



Table of contents

Tools needed

Available versions

LT

Set of elements version B (basic)

(%]

Set of elements version C (cargo)

Set of elements version T (table)

Set of elements version S (sink)

11

Assembly instructions — version B (basic)

13

Assembly instructions — version C (cargo)

Assembly instructions — version T (table)

41

71

83

Assembly instructions — version S (sink)

Information on use

91

Moon Kitchen 2.0 A1-65 Assembly instructions. | 3



Tools needed

Allen Spanner Screwdriver

Available versions

-

MOONKITCHEN 2.0 A1-65 B - basic MOONKITCHEN 2.0 A1-65 C - cargo MOONKITCHEN 2.0 A1-65T - table MOONKITCHEN 2.0 A1-65 Z - sink

All versions can be freely combined with each other.

4 | Moon Kitchen 2.0 A1-65 Assembly instructions.



MOONKITCHEN 2.0 A1'65 B (BaS|C) Set of elements.

] d g &
A o A

65-6B - 1x

Z -

65-2B - 1x 65-3B — 1x 65-4B - 1x

65-1B - 1x
‘ ‘ ) 1
™ A RS g
0 0
090 \ = ,0Y09
050% Q50%°
070 [ ~020
[H0
q 8000 ] A 09"
ol 09
Q A
0950 0020?("
0969° 5’
. 9? . g z 65-H — Hinges GTV
or ’ or 2x set (4 pcs) @
S J— 003 Ix set (2 pcs) @
P s 70
0000004
o, b 00 2
: 0 .
09 I
. 0 B S| £
ho? i,(
. : JJ
. ) 0002 _
o 00 2 U
. \ ; 65-L — Locker — 2x
65-7A - 1x 65-7P - 1x 65-8A - 1x 65-8P — 1x 65.C — Countertop — 1x 65.F — Front — 2x

Moon Kitchen 2.0 A1-65 Assembly instructions. | 5



V4U20 V4U21

version - 1x drawer, 1x flap

@ Screw M4x10
N\
C@\\\\\ Screw M5x12

D
@W‘ Screw M5x16
~J

108x

3x

®

32x%
52x

3x

16x

80

x

3x

65-14

2w(F)  10P)

65-18

NORYC

version @ - 2x drawer

Self-tapping nut with M4
flange

D) Self-tapping nut with M5
@ pping

flange
@?f Wood shim screw

99x

16x

65.DB — Bottom of drawer

(D) (o)

version @ - 2x flap

®

16x
55x

16x

8x
77x

16x

6 | Moon Kitchen 2.0 A1-65 Assembly instructions.



MOONKITCHEN 2.0 A1-65 C (Cargo)

Set of elements.

N
W

65-6C — 1x

or

‘ " W
ol \ 09
Q0 0
0%0 \ < 09009
0450% /0%
040 | 1020
[0
095 90
. 0990 o 020U
0950 050
0Y90 0
@00 .ga z
or
—p| |
| — Y
00 00 2
b 00 2
3 ho 00
00
00
. . e
0
. 000; )
o 00 /\J
\
e U
65-7P - 1x 65-8A - 1x 65-8P - 1x

65.FC
Cargo front — 1x

Moon Kitchen 2.0 A1-65 Assembly instructions. | 7



V4U20 V4U21

65-13

65-18

SORC

version @ - 2x drawer

65-14

65.DB - Bottom of drawer

(D) 1x(0F)

version @ - 2x flap

Washer bold M4x12

Washer bold M5x12

\\\\\\ Washer bold M5x10

@\\\\\\\\N Washer bold M5x16
<

16x

194x

24x

18x

@@V

Self-tapping nut with M4 flange

Self-tapping nut with M5 flange

Wood shim screw

8x

222x

16x

65-31 - 1x

65.DBC — Bottom of drawer Cargo— 1x

>
%
’ o

65-H — Hinges GTV

2x set (4 pcs) @
1x set (2 pcs) @

65-L — Locker — 3x

65.F — Front — 2x

8 | Moon Kitchen 2.0 A1-65 Assembly instructions.



MOONKITCHEN 2.0 A1-65T (Table)

Set of elements.

|

65-7A - 1x

65-7P - 1x

/

65-8A - 1x

65-2B - 1x

S

QQ QCQ
QQ
QQ [\
QQ
Q
QQ
ANAN

e

>

&

>

65-4B — 1x

/3;5?1 &

T 7

65-34 - 1x 65.T — Table — 1x

Moon Kitchen 2.0 A1-65 Assembly instructions. | 9



V4U20 Vv4U21

65-13

version

® G
@ Screw M4x10 = 32x

N
(@ Screw M5x12 108x 52x

version - 1x drawer, 1x flap

N
@W\ Screw M5x16 3x 3x

)

16x
80x

3x

@ - 2x drawer

Self-tapping nut with M4
flange

Self-tapping nut with M5
flange

Wood shim screw

G

65-14

65-18

NORYC

version @ - 2xflap
® ©

- 16x 8x
99x 55x 77x
16x 16x 16x

ll

A |

65.F — Front — 2x

65.DB — Bottom of drawer

NORC

<
R
A <
®g

65-H — Hinges GTV

2x set (4 pcs) @
1x set (2 pcs) @

65-L — Locker — 2x

10 | Moon Kitchen 2.0 A1-65 Assembly instructions.



MOONKITCHEN 2.0 A1'65 s (S|ﬂ|‘<) Set of elements.

D> >
> //V Z

/’ & /;/#:l &

. ) [ g h

= .

65-1B - 1x 65-2B - 1x 65-3B - 1x 65-4B - 1x 65-5B - 1x 65-6B - 1x
N g
Q ! R
\ 0 0
0 4 0
\ - 0% \ 40900
040% 040
070 | HO%0
0
" 7 [
095 090%]
4 00000 3 00 00 (
0970 0
. @00 .go z
or or
—| | ’ —_
- | — 099
. o 0900
070
0000 P
g 2
. o0
00
i 00
Y 2 o -?0
0
: . . 000: .
J 000 ~
e - 65.CS — Countertop for sink — 1x V4.US - Sink - 1x
65-7A - 1x 65-7P — 1x 65-8A — 1x 65-8P — 1x

Moon Kitchen 2.0 A1-65 Assembly instructions. | 11



V4U20 V4Uu21 65-13

version - 1x drawer, 1x flap

@ Screw M4x10
M

C@\\\\\\ Screw M5x12

@ Screw M5x16

ver-

- 32x
108x 52x
3x 3x

65-14

65-18 65.F —

(D) 1x(0F)

sion @ - 2x drawer

D Self-tapping nut with M4
Lo flange

AN\ L i i
80x fl:'l:gteappmg nut with M5
3x W Wood shim screw

ll

|

Front — 2x

65.DB - Bottom of drawer

NORC

65-L — Locker — 2x

>
’ o

65-H — Hinges GTV

2x set (4 pcs) @
1x set (2 pcs) @

version @ - 2x flap

(®

99x

16x

®

16x
55x

16x

8x
77x

16x

12 | Moon Kitchen 2.0 A1-65 Assembly instructions.



MOONKITCHEN 2.0 A1-65B

Version basic.

Moon Kitchen 2.0 A1-65 Assembly instructions. | 13



A g

Screw M5x12 Self-locking nut M5
Ste p 1 Allen Spanner pcs 5x pcs 5x

14 | Moon Kitchen 2.0 A1-65 Assembly instructions.



Version with perforation

Moon Kitchen 2.0 A1-65 Assembly instructions. | 15



,‘}

Self-locking nut M5
pcs 5x

)/

A
oF

Screw M5x12
pcs 5x

Spanner

Allen

Step 2

16 | Moon Kitchen 2.0 A1-65 Assembly instructions.



Version with perforation

Moon Kitchen 2.0 A1-65 Assembly instructions. | 17



Self-locking nut M5
pcs 3x pcs 4x

Screw M5x12

Spanner

Allen

Step 3

18 | Moon Kitchen 2.0 A1-65 Assembly instructions.



Version with perforation

Moon Kitchen 2.0 A1-65 Assembly instructions. | 19



Self-locking nut M5
pcs 7x

Screw M5x12
pcs 7x

Spanner

Allen

Step 4

20 | Moon Kitchen 2.0 A1-65 Assembly instructions.



6000 0 0

6 00 0 0 o

oo o0 o 0

6 00 e 0 o

o 00 0 0 o

@0 00 0 0

Version with perforation

o0 6 0 0 0

oo 0 0 o0 o

o0 00 0 0

o 00 e 0 &

6 00 0 0 o

6 00 6 0 o

Moon Kitchen 2.0 A1-65 Assembly instructions. | 21



@

Self-locking nut M4
8x

8x

Screw M4x10

Spanner

Allen

Step 5

22 | Moon Kitchen 2.0 A1-65 Assembly instructions.



Version with perforation

Moon Kitchen 2.0 A1-65 Assembly instructions. | 23



A g

Screw M5x12 Self-locking nut M5
Ste p 6 Allen Spanner pcs 6x pcs 6x

24 | Moon Kitchen 2.0 A1-65 Assembly instructions.



N\
Self-locking nut M5
pcs 5x

»
Screw M5x12
pcs 5x

Spanner Angle bar

Allen

Step 7

66000060000
coooooo000

65-5B

)

0000000000

| 25

Moon Kitchen 2.0 A1-65 Assembly instructions.



A\
Self-locking nut M5
pcs 3x

Screw M5x12
pcs 3x

Allen Spanner

Step 8

26 | Moon Kitchen 2.0 A1-65 Assembly instructions.



Self-locking nut M5
pcs 7x pcs 7x

Screw M5x12

Spanner

Allen

Step 9

Moon Kitchen 2.0 A1-65 Assembly instructions. | 27



ﬂ [ \\\\} "\\
@
Screw M5x12 Self-locking nut M5

Ste p 10 Allen Spanner pcs 10x pcs 10x

Please
note that
the runner
should be
flush with the

with the
65-13 front.

28 | Moon Kitchen 2.0 A1-65 Assembly instructions.



N N
A oW P
@ |
Screw M5x12 Screw M5x16

P 11 Allen

Spanner pcs 10x pcs 2x

Self-locking nut M5

pcs 12x

65-3B

65-5B

65-6B

>
65-7A

Screw
M5x16

\

N

T

Moon Kitchen 2.0 A1-65 Assembly instructions. | 29



Version with perforation

30 | Moon Kitchen 2.0 A1-65 Assembly instructions.



Spanner

65-L

Allen

Spanner

Screw M5x12
pcs 3x

)

)

Self-locking nut M5
pcs 3x

<

Moon Kitchen 2.0 A1-65 Assembly instructions. | 31



Step 14 Step 15

Allen Allen
Spanner Spanner
PN ) \N
S
Screw M5x12 Screw M5x12
pcs 3x pcs 6x

)}

Self-locking nut M5
pcs 3x

\

=)

65-18

Self-locking nut M5
pcs 6x

@)

32 | Moon Kitchen 2.0 A1-65 Assembly instructions.



Screw M5x12

Ste p 16 Allen Spanner pcs 6x

Moon Kitchen 2.0 A1-65 Assembly instructions. | 33



Wood shim screw 4,2x13

Screwdriver 16x

34 | Moon Kitchen 2.0 A1-65 Assembly instructions.



Version with perforation

/

o

Moon Kitchen 2.0 A1-65 Assembly instructions. | 35




Screw M4x10

Ste p 18 Allen Spanner pcs 8x

36 | Moon Kitchen 2.0 A1-65 Assembly instructions.



Version with perforation

Moon Kitchen 2.0 A1-65 Assembly instructions. | 37



Step 19

38 | Moon Kitchen 2.0 A1-65 Assembly instructions.



Version with perforation

Moon Kitchen 2.0 A1-65 Assembly instructions. | 39



40 | Moon Kitchen 2.0 A1-65 Assembly instructions.



MOONKITCHEN 2.0 A1-65C

Version z cargo.

Moon Kitchen 2.0 A1-65 Assembly instructions. | 41



A g

Screw M5x12 Self-locking nut M5
Ste p 1 Allen Spanner pcs 5x pcs 5x

42 | Moon Kitchen 2.0 A1-65 Assembly instructions.



Version with perforation

Moon Kitchen 2.0 A1-65 Assembly instructions. | 43



,‘}

Self-locking nut M5
pcs 5x

)/

A
oF

Screw M5x12
pcs 5x

Spanner

Allen

Step 2

44 | Moon Kitchen 2.0 A1-65 Assembly instructions.



Version with perforation

Moon Kitchen 2.0 A1-65 Assembly instructions. | 45



=

Self-locking nut M5
pcs 3x pcs 3x

Screw M5x12

Spanner

Allen

Step 3

46 | Moon Kitchen 2.0 A1-65 Assembly instructions.



Version with perforation

Moon Kitchen 2.0 A1-65 Assembly instructions. | 47



Self-locking nut M5
pcs 7x

Screw M5x12
pcs 7x

Spanner

Allen

Step 4

48 | Moon Kitchen 2.0 A1-65 Assembly instructions.



6000 0 0

6 00 0 0 o

oo o0 o 0

6 00 e 0 o

o 00 0 0 o

@0 00 0 0

Version with perforation

o0 6 0 0 0

oo 0 0 o0 o

o0 00 0 0

o 00 e 0 &

6 00 0 0 o

6 00 6 0 o

Moon Kitchen 2.0 A1-65 Assembly instructions. | 49



Screw M5x12 Self-locking nut M5

Ste p 5 Allen Spanner Angle bar pcs 2x pcs 2x

50 | Moon Kitchen 2.0 A1-65 Assembly instructions.



ﬂ [ \\\\} "\\
@
Screw M5x12 Self-locking nut M5

Ste p 6 Allen Spanner pcs 3x pcs 3x

Installation of the drawer as on page 26

Moon Kitchen 2.0 A1-65 Assembly instructions. | 51



Y
A ® P
Screw M5x12 Self-locking nut M5

Ste p 7 Allen Spanner pcs 7x pcs 7x

52 | Moon Kitchen 2.0 A1-65 Assembly instructions.



If you want to install drawers - turn to page 28 If you have a version with a table, please refer to
If you want to install hinged doors - turn to page 23 and 36 the table installation instructions (page 72).

Moon Kitchen 2.0 A1-65 Assembly instructions. | 53



Self-locking nut M5

Screw M5x16

A
oF

Screw M5x12

pcs 10x

pcs 2x

pcs 8x

/@

54 | Moon Kitchen 2.0 A1-65 Assembly instructions.



Moon Kitchen 2.0 A1-65 Assembly instructions. | 55



ﬁ [ \\\\} "\\
@
Screw M5x12 Self-locking nut M5

Ste p 9 Allen Spanner pcs 10x pcs 10x

N 65-27

V4 20

o 65-6C

65-4C 65-3C [

65-4C 65-5¢

56 | Moon Kitchen 2.0 A1-65 Assembly instructions.



Moon Kitchen 2.0 A1-65 Assembly instructions. | 57



Step 10

ﬁ\

Allen

Spanner

o

Screw M5x16
pcs 2x

Self-locking nut M5
pcs 2x

65-6B

65-5B

65-4C

65-3C

©c @ o © o o
© o © © o o
e o o © o o
e o & & o o

c o o o o o
e © o & © o
e e e o o o
6 & o & o o

o & © & © ©
e o o & o o
e & & & 5 o

@ o o o o o

o © © o o o e o o & o o

o © © o o o

e o o & o o e o o o o o

e © o & o o

00

)

N
/

7

e
N

®
@
&)

o ® o
[
@
[
&
[
@96 @ L] q

e @ o o o o
e e o o o o
e o o o o o
e o o o o o
e © & ® & ©
e e o & o o

e o o o o o
e o o o o o
e o o o o o
e o o o o o
e ® o & © o
e & e & o o

e o o o o o
e o o o o o
e o o o o o
o & o & © o
e o o & o o

@ o o o o o

00

~
<)
=T

/@,
=
N

58 | Moon Kitchen 2.0 A1-65 Assembly instructions.




Step 12

o

Screw M5x16

Self-locking nut M5

Allen Spanner pcs 2x pcs 2x
65-4C 65-3C 65-2C 65-1C
@ (o] E] ©
0 & o @| H® 0! o o [} @! H@ ® @‘
B
)

Moon Kitchen 2.0 A1-65 Assembly instructions. | 59



Step 11 Step 12

Allen

Allen . - -
65.FC
Spanner Spanner

Oig

Screw M5x10
pcs 1x

Self-locking nut M5
pcs 1x

(- —

60 | Moon Kitchen 2.0 A1-65 Assembly instructions.



Screw M5x10 Self-locking nut M5

Ste p 13 Allen Spanner pcs 2x pcs 2x

The holes allow the wall to be adjusted 65-21

Moon Kitchen 2.0 A1-65 Assembly instructions. | 61



2\ D )
@
Screw M5x10 Self-locking nut M5

Ste p 14 Allen Spanner pcs 1x pcs 1x

62 | Moon Kitchen 2.0 A1-65 Assembly instructions.



v
Scre M5x10 7

Self-locking nut M5
Ste p 15 Allen Spanner pcs 4x pcs 4x

Moon Kitchen 2.0 A1-65 Assembly instructions. | 63



@
Screw M5x10 Self-locking nut M5

Ste p 16 Allen Spanner pcs 4x pcs 4x

65-25

64 | Moon Kitchen 2.0 A1-65 Assembly instructions.



Step 17

Moon Kitchen 2.0 A1-65 Assembly instructions. | 65



S M5x16
Ste p 18 Allen Spanner Crp?cws 12xX

66 | Moon Kitchen 2.0 A1-65 Assembly instructions.



Self-locking nut M5

Ste p 19 Allen Spanner pcs 12x

65-24

Moon Kitchen 2.0 A1-65 Assembly instructions. | 67



68 | Moon Kitchen 2.0 A1-65 Assembly instructions.



Moon Kitchen 2.0 A1-65 Assembly instructions. | 69



Step 21

N

)
S .
s

o\

=\
.
\
S .

70 | Moon Kitchen 2.0 A1-65 Assembly instructions.



MOONKITCHEN 2.0 A1-65T

Version with table.

Moon Kitchen 2.0 A1-65 Assembly instructions. | 71



A g

Screw M5x12 Self-locking nut M5
Ste p 1 Allen Spanner pcs 3x pcs 3x

72 | Moon Kitchen 2.0 A1-65 Assembly instructions.



Version with perforation

Moon Kitchen 2.0 A1-65 Assembly instructions. | 73



S 2

Screw M5x12 Screw M5x16 Self-locking nut M5
Ste p 2 Allen Spanner pcs 2x pcs 1x pcs 3x

74 | Moon Kitchen 2.0 A1-65 Assembly instructions.



Version with perforation

Moon Kitchen 2.0 A1-65 Assembly instructions. | 75



Self-locking nut M5
pcs 2x pcs 2x

Screw M5x12

Spanner

Allen

Step 3

76 | Moon Kitchen 2.0 A1-65 Assembly instructions.



Version with perforation

Moon Kitchen 2.0 A1-65 Assembly instructions. | 77



2\
~~/

Screw M5x16 Self-locking nut M5
Ste p 4a Allen Spanner pcs 6x pcs 6x

65-8A /&q’;«i
| A & j’ﬂ’
65-7A

N

Y/

I

78 | Moon Kitchen 2.0 A1-65 Assembly instructions.



Version with perforation

Moon Kitchen 2.0 A1-65 Assembly instructions. | 79



80 | Moon Kitchen 2.0 A1-65 Assembly instructions.



65-6D

Version with perforati

Moon Kitchen 2.0 A1-65 Assembly instructions. | 81



82 | Moon Kitchen 2.0 A1-65 Assembly instructions.



MOONKITCHEN 2.0 A1-65S

Version with sink.

Moon Kitchen 2.0 A1-65 Assembly instructions. | 83



Silicon

Step 1

84 | Moon Kitchen 2.0 A1-65 Assembly instructions.



Wood shim screw 4,2x13
pcs 16x

Screwdriver

Step 2

Moon Kitchen 2.0 A1-65 Assembly instructions. | 85



Version with perforation

86 | Moon Kitchen 2.0 A1-65 Assembly instructions.



Screw M4x10
pcs 8

Moon Kitchen 2.0 A1-65 Assembly instructions. | 87



Version with perforation

88 | Moon Kitchen 2.0 A1-65 Assembly instructions.



Moon Kitchen 2.0 A1-65 Assembly instructions. | 89



Version with perforation

90 | Moon Kitchen 2.0 A1-65 Assembly instructions.



INformation on use

Cleaning lelé Package disposal

Wash by hand. Rinse the soiled area thoroughly with clean water and sponge The packaging is made of recyclable cardboard and should therefore not be
wipe gently with a mild detergent. thrown away, but deposited in the landfill in the waste paper bins or special
Do not use bleach, iron or heat drying. The product is not machine washable. containers for cardboard packaging.

Remove all items from Moon Kitchen 2.0 before cleaning.

B E @ @ K Precautions

Make sure you read and understand the instructions before using the Moon

Kitchen 2.0.

After installation, it is advisable to check the fixing of the Moon Kitchen 2.0 by
Composition pulling the whole structure firmly.

Do not leave the Moon Kitchen 2.0 in direct sunlight - this can cause the

100% polyester, PVC-FLAT coating,
material to fade.

aluminium, polypropylene sheet
However, this does not change the mechanical properties of the material.
Do not use an open flame close to the Moon Kitchen 2.0.
Protect against moisture.
Transport and storage Do not load Moon Kitchen 2.0 above the recommended maximum weight.
Do not use any sharp objects, such as knives, screwdrivers, etc., to remove the
The products are packed in cardboard outer packaging.
outer packaging.
During transport, they should be placed horizontally or vertically.

They should be transported in their original packaging.

Moon Kitchen 2.0 A1-65 Assembly instructions. | 91



https://www.vandermoon.com/eng/en/

Contact

tel. +48 18 442 33 69
shop@vandermoon.com

Van der Moon® is a registered trademark of Vitberg Sikora Jacek.
© Vitberg Sikora Jacek - all rights reserved.
Produced in Poland.

ver. IM VDM MK 2.0 A1-65 13/06/2024 EN



